
Fluid-o-Tech rotary vane pumps adapters

56

2

1

3

3

2 1

Note: Dimensions in mm

POS. DESCRIPTION MATERIAL CODE QUANTITY

1 ADAPTER M71 - B14 174322CITSALP

2 6 mm FLAT WASHER 485322LEETS

3 SCREW T.C.E.I. M6 X 20 mm 495322LEETS

73.5

2

1

3

1

2

3

POS. DESCRIPTION MATERIAL CODE QUANTITY

1 ADAPTER M80 - B14 113082CITSALP

2 6 mm FLAT WASHER 485322LEETS

3 SCREW T.C.E.I M6 X 35 mm 433082LEETS

81.5

3

2

1

2

3

1

POS. DESCRIPTION MATERIAL CODE QUANTITY 

1 ADAPTER FOR NEMA 56C 158322CITSALP

2 10 MM FLAT WASHER 4309012LEETS

3 SCREW T.C.E.I. 3/8"-16 X 1-1/2" 409322LEETS

M71 - B14 (22361)

M80 - B14 (28036)

NEMA 56C (22388)

Distributed by:
Phone: 262.634.2386, 800.357.8538 Toll-Free U.S.

Fax: 262.634.6259, 888.700.6114 Toll-Free U.S.
Email: sales@greatlakesintl.com

Web: greatlakesintl.com



Fluid-o-Tech rotary vane pumps couplings

Distributed by:
Phone: 262.634.2386, 800.357.8538 Toll-Free U.S.

Fax: 262.634.6259, 888.700.6114 Toll-Free U.S.
Email: sales@greatlakesintl.com

Web: greatlakesintl.com

Ø
 4

0

2

1

3
4

54

Note: Dimensions in mm

52,5

3

3,5

12,5

Ø
 1

9

Ø
 2

5

30

Ø
 4

0

2
1

3

3

2

1

POS. DESCRIPTION MATERIAL CODE QUANTITY

1 COUPLING WITH 14 mm BORE 153222SSARB

2 BUMPER 193022REBBUR

3 COUPLING - FLAT SIDE BRASS 22346 1

2
1

3
4

Ø
 2

9.
5

Ø
 4

0

54
10

4

3
2

1

POS. DESCRIPTION MATERIAL CODE QUANTITY

1 COUPLING WITH 19 mm BORE 11/23082NORI TSAC

2 SET SCREW M6 X 8 mm 143082LEETS

3 BUMPER 13/23082REBBUR

4 COUPLING - FLAT SIDE 12/23082NORI TSAC

4

3
2

1

POS. DESCRIPTION MATERIAL CODE QUANTITY 

1 COUPLING WITH 5/8” BORE CAST IRON 22386 11/

2 SET SCREW M6 X 8 mm 150-30-09LEETS

3 SPIDER 13/23082REBBUR

4 COUPLING - FLAT SIDE 12/23082NORI TSAC

M71 - B14 (22350)

M80 - B14 (28035)

NEMA 56C (22387)


